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1 COMPLEX GENETICS TEST REVIEW

L. Basic Genetics
1. Gregor Mendel is known for 3 main laws/principles. Deﬁne each:

. a. Law of Segregation o {:F < P\“ “3 \“N“\. oy Lop of wadn F\\LAUS
o 2o\ Povent aka eadn PQ\(Q_\(\* dom Q- o (,UP} Ost- eocn alkle
b. Principle of Dominance
AOMNONT § traws -+ wI  wosk| covr wp r&tsswt ’ﬂou\*s
c. Law of Independent Assortment
netoske of  one qeng dues not rpock m\\w\*\*cmcz o% Q‘\Qﬁ\ oK
2. What is the difference between a genotype and a phenotype? . .~ -, )
Qroohk > gendne ol Ler, BB, KX 'anc\o\'\-“x.'- Prusicol Qppomm
3. Gene (E) codes for length of eyelashes. Long eyeIashes are dominant to short eyelashes. <%, blue &‘-[ﬂ
a. What is the genotype for a person with short eyelashes‘7 A

b What is the genotype for a person who is homozygous dominant? ’ CE—
“What is the phenotype for a person'who,is Ee? ! ]o\(\cs E\.l‘t dasney - by 240 o

4. What is the only genotype where the recessive trait will be expressed as the phenotype?
NOROGOUS + - TRLESSWE e psad R ey o YN
5. What is the different between a chromosome, gene and an allele? A
COVOROSOTMS a¥e  rnode up OF  Qenes.
Allrles  OxXR - AwkRormnt (0nS: [&‘mg of o qrNC
Monohybrid Punnett Squares
6. InaPunnett Square... ! £y -/
a. What do the letters out51de the squares represent‘?
b. What do the letters inside the squares represent?

7. [If tall plants (T) are dominant to short pea plants (t). Show the cross of a heteroz"j?'gous tall plant and a shef!t plant.
What is the phenotypic ratio for the offspring? T
£ e | Lo tals Lshork

ol O O

8. A bird’s egg shell coloration shows codominance. The egg with be blue (B) if it is homozygoue BB. The egg will be
white (b) if it is homozygous bb. What is the phenotypic ratio if a bird laying white eggs is crossed a bird laying blue

eggs? 3 B

b |8 [%\)} jLoO/. Biue X winwe - speddad

9. Carnations can either be red (RR), pink (RW) or white (WW).
a. What type of inheritance is this? 313;01319\(.}5 A0MINIANKR ( ved * Dk = P\“})
b. Show the cross between a red and pink flower,
9. %
% Relen 50 ‘/ red, SO A '?mk

. W P14 \ YQ‘\'\.O
10. Color-blindness is a sex-linked trait found on the X chromosome.'lf,a color-blind man and a v&)marbwho is a carrier
for color-blindness have a child... Draw Punnett Square X

a. What is the probability they will have a color-blind girl? _ma_s 7. Xb %%{’ \[b Xb

b. What is the probability they will have a color-blind boy? A
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11. Hemophilia is a sex-linked recessive trait found on the X chromosome. A woman who does not have hemophilia has
a daughter with hemophilia. What are the genotypes of the two parents?

N
davqiey )(:‘\Xh B C\Qd - )(h,\l it s mpm‘,::_(cuw\cf\ XHX .

1* 12.°A woman with Ty&)e Oet;lood and a man with AB blood have a child: What are the poténtial p.henc')types: of the child?

o n e Tape i A, B bloed ¢
T 14y

II1. Complex Genetics ' L [
*13. What is the difference between an’ autosome and a sex ch:omOSOme‘? :

QUIOSOME. ot O Sex  Chwom usom SO Yegarc\uss o( %Qndw(

S woTnosornet Ak qerdée U ) o Kl e 15t
14! Whydo females inherit sex-linked traits differently than males?

Fernalets Nowe 2, X c\vomosome S

Mals have | X ard omy vutd one reusswe alaw do dnow rait
15. What is a carrier? Do they show the recessive trait? Can they pass it on to their kids?
Cortry S \ndomaggdVs,  +iey do DoF shows “ine Yt(.tés\\z\fv(r 't;ad‘: out.con pass WAo
16. What is the difference between codominance and mcomplete dominance?., . 8 OO Y )
(odomnone: botn Wormeagous  traits, Shouwsn -+ x) Tcd\ﬁ- Bue S‘pcf\S |
Wamplete Dommance: MRICEZMGOUS 15 a0 bund D PUrPR .

17.Ifa parent has the genotype AaEE what are the 4 potentlal gametes that they can produce?

AE' Re 7 oE af
18. Define multiple alleIes and provide an example:

wMoYt Bnaey ¢ 2! versions oF ﬁu {—m’&

; HB Hb hB  hb
%) Bisod Typwg A ,\3 ] J} ‘3-_'! &

19. Based on the dihybrid cross to the right, list the phenotyplc HB | HHBB | HHBb | HhBB | HhBb
ratios. The cross shows two heterozygous long-haired, blue _ '
eyed goats. Long hair (H) is dominant to short hair (h). Blue Hb | HHBb | HEbb | HhBb | Hhbb
eyes (B) are dominant to red eyes (b)., , O3 N

) fio | J 7 I
9 Long -blu. % torg -reds SM{*b\m et 'HhBB | HhBb | hhBB' | hhBb

Shoﬂ-mihb HhBb | Hhbb | hhBb | hhbb

IV. Pedlgrees il by R N S .
¥ - L Aind d Adf pio Fia b dd ) | ',_’y'.f_‘

20. For each major type of mherltance list KEY ways that you can determine the type of 1nher1tance simply from
analyzing a pedigree.

a. Dominant Trait: S\‘\o UOS \“ - c\m\‘ c&mm‘“oh BaE N
{ /,4,‘ \ l :,ll '-: /
b. Recessive Trait: Sk\PS %m OY\S : L ¢ .

/!

c. Sex-Llnked Trait:.

“nme commm Wy TnalEs,
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